White

Rose
Use the 100 square to complete these calculations.
72 + 9 = 27 +9 =

0 How many hearts are there in total? /

Complete the multiplication fact. 0 Complete the calculations.
r' '\ r' '\ r' '\ f' '\ 0)3)(9: g)6x9=
"‘ "‘ "‘ "‘ b) +9=12 h) 9 x =18
) S S S ) 9x4= i) 9 x =72
X =
d) +9=1 j) +9=11
0 Colour all the multiples of 9 2(56
e) 11 x9= k) x 9 =45
1 2 (3|14 (5|67 ]|8]910
f) 10x9 = ) 20 x 9 =
1M[12113 |14 (15|16 |17 |18 | 19| 20
21122123124 |25|26 |27 |28 |29 |30
31 (3213334 |35|36(37|38|39]40
e Complete the number tracks.
41 142 |43 |44 |45 |1 46 |47 |48 149 | 50
5115253 |54 |55(56 |57 (58|59 |60 0 9 18 54
61 (62|63 (64 |65|66|67 |68 |69 |70
71 (7273 (74 |75 |76 |77 |78 | 79 | 80 108 99 72 45 36
81 (82 (83|84 |85|86|87 |88 (89|90
91 (92 (9319495196 |97 (98 |99 |100

What pattern do you notice?
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o These numbers are all multiples of 9

A5 54 18 | |108

a) Show that the sum of the digits of each number is

the same.

b) These numbers are also multiples of 9

198| |657| |891| |999

What is the sum of the digits of each number?

9

I've noticed
something about the sum
of the digits of numbers that
are multiples of 9

What do you think Whitney has noticed?

d) 7,59_is a multiple of 9

What is the missing digit?

° Jack is making arrays. @

1 1@
1 1@

000000000C

a) Use the arrays to complete the multiplications.

1x 10 = 1x9=
2x10 = 2x9=
3x 10 = 3x9=
4 x 10 = 4x9=

b) Write steps for a partner to explain how you can use the
10 times-table to multiply by 9

¢) Use your steps to work out these multiplications.

19 x 9 = 72 x 9 =

<«

White



